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a 1F __________  
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c 3F __________  
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5.  

1.0 m
0.10 s 2.0 s 0.10 s

3 m
 

 
__________  

 
 7  

1y 2y

1v 1t 2v

2t
 

( ) ( )2
1212121 5.0 ttgttvyy −+−=−  

 
( ) ( )

( )
( ) 5.9

10.0
10.0105.00.15.0 2

12

2
1221

1 =
×−

=
−

−−−
=

tt
ttgyyv m/s 

 
H 1yH −  

 
( )1

2
1 2 yHgv −=  

5.4
102
5.9

2

22
1

1 =
×

==−
g

vyH  m 

 
3t 0.120.223 ==− tt s 1.11.00.113 =+=− tt s

 
 
 



 4

( ) ( )2
131311 5.0 ttgttvy −+−=  

5.161.1105.01.15.9 2
1 =××+×=y m 
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9. 

1.0 kg
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10. 
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Hooke’s law  

 
__________ N  

 



 7

 

 
 

  45 N  
Hooke’s law  

 
xkW Δ=Δ  

( )4060110240 −=− k  
5.6=k N/mm 

 
ox  

 
( )oxk −= 40110  

 
23=ox mm  

 
( ) ( ) 4523305.630 =−=−= oxkW N 

 
11.  

1.10 cm
27.0 cm

D = 2.20 m

 

 
__________ cm  

 
 

 



 8

 
 1.25 cm  

ov h x
tvx o= 25.0 gth = t

ghvx o 2= x ov 1ov 2ov

1x  
 

11

2

x
D

v
v

o

o =  

 
d 25.0 kd

25.0 omv 22 5.05.0 omvkd =
 

 

1

2

1

2

d
d

v
v

o

o =  

 

11

2

x
D

d
d

=  

 

25.110.1
27220

220
1

1
2 =

−
== d

x
Dd cm

  
12. 4.5 kg 18 kg
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4.2=Δ+Δ bd xx  
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13. M = 4.5 kg

R = 8.5 cm 32 2MR

r = 5.0 
cm I = 0.003 kg-m2

m = 0.60 kg

82 cm
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14. 
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____________________ m, g, ρ , S, θ  
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